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1.24+23+34+
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=n®+n

n=1,N" =1%+1
n=2, AN =2%+2
n=3, 9N =3%+3

S, = (124 22+ 32+ ... + 12) +(1+2+3+...
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501 34 4+45+5.64 i
qrABInON A% t, = {3+ (n-1)1} {4+(n-1)1}
=(83+n-1)(4+n-1)
=n+2)(n+3)
= n?+2n+3n+6

= n%+5n+6




n=1,NM=1%+5.1+6

n=2, [AAM=22+52+6
n=3,9F q9=3°+53+6

Sy, = (12+22+ 32+, _._.: + n?)+5 (1+2+3+............)F6(1+1+1+]. ... .+])

_n (n+1)( 2n+1) g (il n (n+1)

. + 61

= { (n+1)(62n+1) +5 (n+1) + 6)
{ Nn?+2n+n+1)+15 (n+1)+36

=N - }




(2N%+3n+1+15n+15+36)
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(2N2+18n+52)
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1. 22 4 2. 3% 3. 42

qrRfGanoT o t, ={1 + (n-1)1} { 2+(n—1)1}>
=(1 +n-1) (2+n—-1)?
=n(n+ 1)?

=nm?+2n+1)

=n3+2n%+n




n=1, " =13+21%+1
n=2, AN =23+22%+2
n=23, 94 A =33+23%+3

S, =(13+23+33+ ... + m)+2(12+ 22+ 32+...... + M) +(1+243+ oo )
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_nn+1) 3n(n+1)+4(2n+1)
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2
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5D 1+ (143) + (13 45) F oot
AT N ©F oM 1 = 1+3+5+ T+,
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- n
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S,=12+22+ 32+ .. + n
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- 6 Ans.




